Partdrawing for DCF203Z - Ventilator

14,4-18V

2019/04
DCF203




Partdrawing for DCF203Z - Ventilator 14,4-18V

Nr.
001
002
003
004
005
006
007
008
009
010
011
012
013
014
015
016
017
018
019
020
021
022
023
024
025
026
027
028
029
030
031
032
033
034
035
036
037
038
039
040
041
041A
042
043
044
045

Part nr.

TE00000371
TE00000362
TEO0000373
TE00000374
TE00000375
TEO0000376
TE00000028
TE00000030
TEO00000363
TE00000378
TE00000364
TEO00000190
TE00000197
TE00000380
TE00000203
TE00000189
TE00000381
TEO00000011
TE00000062
TE00000064
TEO0000063
TE00000382
TE00000089
TEO00000365
TE00000384
TE00000385
TEO0000386
TE00000281
TE00000282
TE00000102
TE00000256
TE00000277
TEO0000387
TE00000388
TE00000407
TEO0000090
TE00000018
TE00000389
TEO0000390
TE00000274
TE00000276
TEO00000450
TE00000263
TE00000247
TEO00000391
TE00000394

Name

Waaierhuisrooster DCF203D
Ontgrendelknop DCF203
Borgring DCF203
Waaierblad DCF203D P
Arm DCF203D

Klemplaat DCF203D
Tapschroef 3X14Mm Bcl201
Met.Schroef M3X14Mm Bcf201
Waaierhuis DCF203D
Drukveer DCF203

Schroef DCF203

Ring Cf100D*

Veer Cf100D*

Motor assy 18V DCF203
Schroef 2,5X8 Cf100D*
Drukplaatje Cf100D*
Afdekkap L+R DCF203D
Motorhuisdeksel Bcf201
Koppelplaat Dcf300
Drukveer 5Mm

Kogel 6Mm Dcf300

Draaias DCF203D
Aanslagplaat Dcf300

Label Schakel L DCF203
Label Schakel R DCF203
Basisplaatdeksel DCF203
Submotor assy 18V DCF203
Moer M3 DCF102

Buffer 2 DCF102

Met.Schr. Ck M3X14Mm
Schroef Pt 3x8mm
Bufferconnector DCF102
Controller DCF203

Schroef M3x10mm
Kabelband DCF203
Sluitring 16Mm Dcf300
Afdekkap Bcf201*

Stelplaat DCF203
Basisplaat DCF203

Buffer 1 DCF102

Moer M8 DCF102

Moer M8 plat CF001G
Klemplaat tbv accu DCF102
Aansluitunit DCF203
Behuizing DCF203
Draadboom DCF203

'H!!l,;!!!‘fl




Partdrawing for DCF203Z - Ventilator 14,4-18V

Nr.

046
047
048
049
052
053
054
055
056
057
058
059

Part nr.

TE00000392
TE00000402
TEO0000069
TE00000370
TE00000408
TEO00000028
TE00000028
TE00000028
TEO00000028
TE00000028
TE00000028
TEO00000028

Name

Grondplaat DCF203
Ratinglabel DCF203
Borgmoer M10 Dcf300F
Borgring 3mm DCF203
Revet DCF203

Tapschroef 3X14Mm Bcl201
Tapschroef 3X14Mm Bcl201
Tapschroef 3X14Mm Bcl201
Tapschroef 3X14Mm Bcl201
Tapschroef 3X14Mm Bcl201
Tapschroef 3X14Mm Bcl201
Tapschroef 3X14Mm Bcl201

'H!{l,;!!!‘fl




